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MPESB 2023
Excise Constable Direct and Backlog Post Recruitment Test (For

Excise Department MP) - 2022-Reports

Testdate 21 Feb 2023 v
TestSlot Shift 2 v

Submit

Q.No: 1 Who wrote the book "Unfinished"?

2620188
"SFfpRTS" e e foredt 82
Kareena Kapoor
A
PN IR
Priyanka Chopra Jonas
B
frdeT TSt WA
Kalki Koechlin
C
Ffcw prafed
Neena Gupta
D

LIkl RIS
Correct Ans : B

Subject : Gen. Knowledge graduate

Q.No: 2 What is the percent decline in the rate of deforestation globally in 2021 as compared to 2018-20 baseline?
2620256

2018-20 YT $T g1 H 2021 H affid TR | I B Hers Bt X A fbam ufard 3 fijrae orE 82

5.2%
A

5.2%

5.5%
B

5.5%

6.3%
C

6.3%
D 7.3%
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7.3%

Correct Ans : C

Subject : Gen. Knowledge graduate

Q.No: 3 What is the name of the winner of Booker Prize 20227

2620282
T RIDR 2022 & faoar &1 91 F1 82
Shehan Karunatilaka
A
A5 HIUNTaABT
Mumtaz Khan
B
HHACTS W19
Meena Kandasamy
c
Hi Serardt
Suella Braverman
D

Jguar SaAT
Correct Ans : A

Subject : Gen. Knowledge graduate

Q.No: 4 Who is the head of the committee on the Pandemic Risk Pool?

2620328
MR WA qa W AR 61 ugE i 82
Suresh Mathur
A
X AR
G V Ramakrishna
B
St df Irgwr
JJ Irani
C
& & Rt
Ajit Kumar
D
3reild PR

Correct Ans : A

Subject : Gen. Knowledge graduate

Q.No: 5 Which committee has developed and proposed financial standards for the "Resolution Framework for Covid-19 Related Stress" that
2620329 centers on resolution strategies?
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g gfifa 3 "wifdg 19 Yefd da & T I T & o foxfia Aot o) faefRia 8k uRarfad fvar & S Joved YoMl R Siad 82

K V Kamath Committee

A
F &t sy Afafa
Niranjan Bhat Committee
B
e vz afufa
Dr Sukhbir Singh Sandhu Committee
C
ST g Rig sy affa
Pravin Kutumbe Committee
D

udior e wfafa
Correct Ans : A

Subject : Gen. Knowledge graduate

Q.No: 6 Where was the two-day Chintan Shivir organized for the Home Ministers in October 2022?

2620352
SfFEaR 2022 H 75 TR & forg & feafi fria RIfoR &1 smaitem wet foan mare
Uttar Pradesh
A
S T
Haryana
B
givamon
New Delhi
C
% Rt
Uttarakhand
D
FRTES

Correct Ans : B

Subject : Gen. Knowledge graduate

(226'\12%3779 Which northeastern state observed the 160%® death anniversary of Yu Kiang Nagbah on December 30,
20227
forg gaftR e 71 30 fa¥ieR, 2022 &1 g faiT AreE &t 1604 guafaly 7?2

A Arunachal Pradesh
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3BV USRI

Manipur

wfrgR

Meghalaya

YTy

Nagaland

EIL IS
Correct Ans : C

Subject : Gen. Knowledge graduate

Q.No: 8  Which of the following agencies is appointed as a nodal agency of the National Power Portal?

2620486
o & § g woikl &) A2Hd TR 9dd 3 isd Tl & w9 # fgad far man g2
Niti Aayog
A
e amarT
Department of electric supply
B
fagga smyfd fawmr
Rural Electrification Corporation
C
aretor Rrggde<or fm
Central Electricity Authority
D

Fla fagga witezo
Correct Ans : D

Subject : Gen. Knowledge graduate

Q.No: 9  The Pradhan Mantri Jeevan Jyoti Beema Yojana is available to people in the age group of years having a bank account.
2620487
T T Sitae Sfa Star A Yo @ e are I8 B Mg F A F fory Suwy B
18 to 45
A
189 45
15 to 60
B
15 9 60
C 18 to 50
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18 ¥ 50

12 to 45

123945

Correct Ans : C

Subject : Gen. Knowledge graduate

Q.No: 10 Khizr Khan was succeeded by his son

2621923
a9 Tt &1 STWAGRT 9D T gofml
Mubarak Shah
A
HIR® Mg
Muhammad Shah
B
HeH¢ X5
Alam Shah
Cc
S{TeTH =MTE
Firoz Shah
D
et T

Correct Ans : A

Subject : Gen. Knowledge graduate

Q.No: 11 Who of the following was a Saguna Saint?

2621928
PR 3 @ @ o dd 92
Tulsidas
A
qerfiard
Nanak
B
BIECa
Kabir
Cc
PR
Kabir & Nanak
D

PaR R TS

Correct Ans : A
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Subject : Gen. Knowledge graduate

Q.No: 12 Where was saint Ramananda born?

2621934
W WA BT S HEI gl UT?
Prayagraj
A
TATRTST
Gaya
B
™
Rameshwaram
Cc
TARA
Agra
D
STRT

Correct Ans : A

Subject : Gen. Knowledge graduate

Q.No: 13 How many members participated in the first session of congress in 1885?

2621994
1885 & SN & TuH iR # e we=dt 3y foram a2
35
A
35
72
B
72
434
C
434
607
D
607

Correct Ans : B

Subject : Gen. Knowledge graduate

Q.No: 14 What is the process of pooling and repackaging financial assets to make them marketable?
2622134

faxfa dufrl @) fauom dvg s & forg gfem oiR S0BISRT @t ufar & 82
A Disinvestment
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fafyamr

Securitization

B
wferyfereor
Demonetization
C
fegteeo
Legalization
D

BT g1
Correct Ans : B

Subject : Gen. Knowledge graduate

Q.No: 15 What is helicopter money?

2622138

BlIBIER HeAl T B2

Unconventional monetary policy
A

SRTTE Hfgw Hfa

A form of debt restructuring
B

Bl T &1 TH T4

Exchange rate
c

fafma w®

Technological development
D

CEEICARCEg ]

Correct Ans : A

Subject : Gen. Knowledge graduate

Q.No: 16 What is the estimated external debt of India in September 20217?

2622304
fRydsR 2021 F HRA $T AT ST&T BT fberTr 82
US$ 593.1 billion

A
gquy § 593.1 faferaa

B US$ 600 ballion
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quy s 600 fafera
US$ 400 billion

Cc
gquy s 400 fefea
US$ 6789 billion

D

gquy § 678.9 fafermA

Correct Ans : A

Subject : Gen. Knowledge graduate

Q.No: 17 When did India launch National Action Plan on Climate Change (NAPCC)?

2622309
YR J ATy URad W P 1 AeHT (NAPCC) F8 & BI?
2000
A
2000
2002
B
2002
2007
C
2007
2008
D
2008

Correct Ans : D

Subject : Gen. Knowledge graduate

Q.No: 18 What is the law made by the Government of India for citizenship called?

2622464
R TRPR gRT ARG P 7T ST 7T B B 37 Bl SINal 82
citizenship act,1966
A
e s, 1966
Non Citizenship act, 1955
B
R e sfufaw, 1955
citizenship act,1955
C

arfyean sifufaad, 1955
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Non Citizenship act,1966

R Ay afifw, 1966

Correct Ans : C

Subject : Gen. Knowledge graduate

Q.No: 19 Which option is not correct regarding the S.R. Bommai case?

2622491

S.R SIS A F ey § HH A1 fawed g1 & 82

Judicial review is available for the President's Rule.
A

Tgufa WA & g =nfie wete Suesy g1

The court cannot investigate the correctness of the material of President rule.
B

JeTad A P Y1 B S g T B qDHA 2l

Till Parliament approval, Legislative Assembly is suspended not dissolved.
C

TG & 3gHie a%, AU quT Y W 981 FHefaa fan wmar @1

A request for a totalitarian state
D

A ard! I & e Te oy

Correct Ans : D

Subject : Gen. Knowledge graduate

Q.No: 20 Which article of the constitution provides for the constitution of the finance committee for the municipality?
2623644

Ty & 59 s B TRt & fow o s & 767 &1 yray™ 82

243-Y
A

243-Y

243-X
B

243-X

243-2G
C

243-ZG

243-W
D

243-W

Correct Ans : A

Subject : Gen. Knowledge graduate
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Q.No: 21 Weight represents

2629767
o ___ &l yfafAfea war 31
Mass
A
SIH
Time
B
qHqg
Pressure
Cc
Qi
Force
D
94

Correct Ans : D

Subject : Gen. Science graduate

Q.No: 22 Which of the following is an ex-situ site for conservation of organisms?

2632019
fofafaa o § w19 a1 Sfidl & WRem & e T eg-dig wa g2
National Park
A
AP I
Botanical garden
B
i Sa
Wildlife sanctuary
Cc
TISIT HHARTY
Biosphere reserve
D

aviga frad
Correct Ans : B

Subject : Gen. Science graduate

Q.No: 23 Which of the following is NOT a major mineral required by the human body?
2632092

Fafied & § S a1 dd IR S R 3awus g e T8l 82
A Sodium
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wifeaw

Iron

e

Calcium

Hferaw

Silicon

Riferta
Correct Ans : D

Subject : Gen. Science graduate

Q.No: 24 Who originally proposed that the first form of life could have come from pre-existing non-living organic molecules?
2632123

o w0 I g vRarad {3 o1 7 Sia &1 ugen T yd-fagme fsifa s el & o g 32

Oparin and Miller

A
STl ofik freR
Oparin and Haldane
B
SR SR BT
Haldane and Miller
C
FTes SR e
Darwin and De Vries
D

SIfdT ok St

Correct Ans : B

Subject : Gen. Science graduate

Q.No: 25 Which of the following is an example of a homologous organ?

2632125
Fafifad & & SH-31 THS ST BT IaTeRT 82
Forelimbs of man, wing of a bat
A
TS & 3FIUTG, THMGS & U
Wing of an insect, wing of a bird
B
Bie &1 U9, ueh &1 v
C Leg of a dog, leg of a bee
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o T R, AYHATH FT R

Flippers of Penguins and Dolphins

Y115 SR STer & forerond

Correct Ans : A

Subject : Gen. Science graduate

Q.No: 26 Which of the following is the colour of neutral litmus solution?

2633544
e & 9 P a1 der e faeae &1 3 82
Blue
A
e
Purple
B
CUE]
Yellow
C
dren
Red
D
oTet

Correct Ans : B

Subject : Gen. Science graduate

Q.No: 27 Which of the following methods is suitable for determining the pH value accurately?

2633547
Fofafaa & § o1 @ [ dea 9 o1 98 RuRko o % e Suge 82
pH meter
A
g ez
pH paper
B
dig Iw
Litmus solution
C
R faeraa
Universal indicator
D

gfyada sfeper

Correct Ans : A
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Subject : Gen. Science graduate

Q.No: 28 What is the CO bond order?

2633608
Wi is oSy 71 72
4
A
4
3
B
3
2
C
2
1
D
1

Correct Ans : B

Subject : Gen. Science graduate

Q.No: 29 The bond order is the same for all species (ion and molecular).
2633609
g o Tff Torfaat (3 3R 3HUifde) & forg waM B
Isoelectronic
A
Isoneutronic
B
Isobaric
C
T Y&t
Isotopic
D
TS

Correct Ans : A

Subject : Gen. Science graduate

Q.No: 30 What is Living Planet Index ?
2639503
fRifdT @e gurie 1 82
A Indicator of the status of the world's threatened animals and trees
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fay & dwe v wtr qu1 99) #) fRufa &1 gue

Super rare plant species indicator

B
TR gy e yenfa &1 gab
Biodiversity Indicator

C
Sq fafyuar &1 e
Environment indicator

D

TaiaRuT Whdd
Correct Ans : C

Subject : Gen. Science graduate

Q.No: 31 When is World Earth Day celebrated?

2639513
fay gt feaw & RN I 8 2
April 1+
A
1 ol
April 5
B
5 3|
22 April
C
22 3l
30 April
D
30 i

Correct Ans : C

Subject : Gen. Science graduate

Q.No: 32 Mahogany, Rosewood are trees of which biomes?

2639559
RN, ASgS e arii & ga B2
Tropical rainforest biomes
A
Swisfeadta qufes ariw
Mediterranean biomes
B

YA AR
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Monsoon biomes

AL I

Taiga biomes

EULE IR

Correct Ans : A

Subject : Gen. Science graduate

Q.No: 33 Which of the following is natural auxin?

2639589
frofafea o ¥ o9 1 urefas e 72
Indole 3- acetic acid
A
9 3- Thife® ot
Mendole and citric acid
B
Nea aur agfie® ona
Ammonium nitrate
Cc
S ATgee
Dry ice
D
TP T

Correct Ans : A

Subject : Gen. Science graduate

Q.No: 34 Which of the following types of plants exhibit Photorespiration

2639807
frofafed & 9 f5g veR & 01 v 497 uefiia o= 82
C-3 Plants
A
c-3 Uid
C-4 plants
B
c-4 0
CAM plants
C
CAM TUId
Diurnal plant
D

e @
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Correct Ans : A

Subject : Gen. Science graduate

Q.No: 35 Which substances are produced during photosynthesis's light reactions?

2639808
THTR HRAYU B YHTRT BT F IRA P I uerd I g 82
Sugar and ATP
A
IR SR ATP
ATP, Hydrogen and Oxygen
B
ATP, BISSISH 3R SiTRieH
Sugar, Hydrogen and oxygen
C
TR, TR 3R faiier
Oxygen only
D
Faa sRfe

Correct Ans : B

Subject : Gen. Science graduate

36'\;.?3 93169 Vikram was seated 9% from the left. while Tanhvi was positioned 8t from the right in the
front row, both recerving awards. What was the total number of individuals in the 1%row if
Hariom sat 13% from the left and right in the midst of Vikram and Janhwvi?
RER IR FARIE & SR A 1 Ufed H s a1¢ @ A1 afes stredt arg § 3ned ®iF W )| e gR oftn a1 & TRed @I W or R I dfe
A faww IR Irgdt & 3t f9 § o1, O AR @1 ufdd B o fan an A
18
A
18
19
B
19
21
C
21
24
D
24

Correct Ans : D

Subject : Gen. Reasoning graduate
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Q.No: 37 Directions: Read the following information carefully and answer the given question.
2614050

In a group of five, Kamal is the tallest and Leela is the shortest. Shashi is shorter than Kamal but Vinita is taller than Preeti. Preeti is
the second shortest candidate in the group.

Who among the following is between Shashi and Vinita?

e Fofafea SHer & aryds ug 3R 3T e oy &1 3w dm)

U & 94 B, HAG Ja T § SR el Iad BT 71 IR, FHA § BT § Al fafar, iy I deft 81 ok I & g @ w1 Seitear 31

fFrafofed # & o1 i ok forffar & da 7 &2

Leela

GG

Preeti

e

Kamal

DHA

None of the given options

ey e e § & B1% T8
Correct Ans : D

Subject : Gen. Reasoning graduate

Q.No: 38 5 people P, Q, R, S, and T are sitting in a row. T is sitting immediately right of R. S is sitting immediately left of Q. Q is sit any
2614082 endpoint. R is third to the left of S. Who is the immediate left of P?

5P, Q RS, TG IR AISEIT, RF 3F e d61 81 S, Q F 31 I 931 31 Q bt sifaw g W IeT 81 R, S F T w1 &1

P& 3P I8 B §?
s
A
R
B
R
C
D Q
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Q
Correct Ans : C

Subject : Gen. Reasoning graduate

Q.No: 39 Rama and Anvi seated close by to one another. Anvi is just to Anita's left. Between Rama and Shikha, two people are seated. In respect

2614090 of Anvi what is the position of shikha?

T 3R 3t U gER & U 93T ¥1 ot ST F i a1 SR 31 ¥ iR a1 & i &) wafaa 98 1 ot & e # Rran &1 @ e 72

Second right of Anvi

A
It & gl | g
Immediate left of Anvi
B
=t & Sl T
Immediate right of Anvi
Cc
3t F &P ad
Second left of Anvi
D

3 & I A g
Correct Ans : A

Subject : Gen. Reasoning graduate

Q.No: 40 Answer the questions that follow the content after carefully reading it.
2614380

Some words and their codes are represented in the table below. Based on some pattern, the codes are assigned.

Word | TRAINED | AVENGER | STARE
Code 41 30 31

The numerical numbers in Columns A, B, C, D, and E represent the codes for the words requested. The column name in which the

asked-for word is encoded must be marked as your response. The words must be coded in the same way as the codes listed in the first

table are done.

A[B|C|D|E
41 52|38 [ 65] 26
03 |33[22]29) 50
10 [59(25) 06| 20
4718793 (51| #H4
19 (31 |58) 57|37

For instance: If the word STARE were the response, the answer would be "D".

Which of the following is the code for "YELLOW"?

At B S ¥ UgH & d1G SUD a6 3 ad U & IR ¢
H < 7 AT § 59 WS 3R 3% Be <WT T T $B Yo & 3MYR W, IS 313 Y o 71
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Word

TEAINED

AVENGER

STARE

Code

41

30

31

DA T, o, Al, S 3R 3 T T=de T/ SRIRIG W3l & T Bis &7 UG Tl § 1 Bied BT AT e TR 7T Weg This e T &, 39

3Mmuet wfiferan & U # fafed fovam S e 2=l 31 I dRe PIFSd a1 S A1fey SR Tgelt anferep! # Yeies PIS (¢ T &1

A[B|C|D|E
41 )52 |38 [ 65| 26
03 |33[22]29) 50
10 [59]25) 06| 20
471879351 | #H4
19 (31 |58) 57|37

ISTeXUN & forT: afd STARE eg 7 IR gidT, df SR "D" gl

frofafaa & § & 91 "YELLOW" ¥ faw ge &2

D
A
B

A
C

B

C
D

C

Correct Ans :

C

Subject : Gen. Reasoning graduate

Q.No: 41 Read the given pattern carefully and select the number which can replace the question mark (?) in it.

2614480

A 389
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389
789

789

576

576
313

313
Correct Ans : D

Subject : Gen. Reasoning graduate

Q.No: 42 Find out the wrong term from the given alphabet series.

2614592
A E K Q Z
&) 1$ qufaren s@en # TTad ug 91d BiRg
A E K Q z
A

A

B
Q

c
z

D
z

Correct Ans : B

Subject : Gen. Reasoning graduate

Q.No: 43 Find out the wrong term from the given alphabet series.

2614617
FLP, JNS, NPV, ORY
& g qufrer sRear & Tad ug J1d Sife
FLP, JNS, NPV, ORY

A ORY
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ORY

NPV

NPV

JNS

JNS

FLP

FLP

Correct Ans : A

Subject : Gen. Reasoning graduate

Q.No: 44  Which is the WRONG term in the following series?

2618496
SIFX, WNJB, CTOH, GXTL, MDZR
i saar o Tad ug S a1 82
SIFX, WNJB, CTOH, GXTL, MDZR
WNJIB

A
WNIB
CTOH

B
CTOH
GXTL

C
GXTL
MDZR

D
MDZR

Correct Ans : B

Subject : Gen. Reasoning graduate

Q.No: 45 A piece of paper is folded as shown below in the question figures. From the given answer figures, indicate how it will appear when
2628450 ;pened?

Question Figure:
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Answer Figures:

PIS & UH ghe &I A9 T M oy & SrguR Mer mar 31 &) 1 IR epfaat § ¥ gxfzn fr o9 <& et S &t ag s feamm?

Uy 3Mpia:
s
-~ L8
s "~_
-
IR SMpfa:
. - - - & 0
L Y LA AN Ll RN
- - - - - & |
P - -l
ahel e 0y
- - . # - -

(A)
A

(A)

(B)
B

(B)

(©)
C

©)

(D)
D

(D)

Correct Ans : C

Subject : Gen. Reasoning graduate

Q.No: 46 If UPSIDE is coded as 74, SUPREME is coded as 97, then SHARKS will be coded as:

2628678
If& UPSIDE &1 74 ¥ $fed a1 wiram § 3R SUPREME &1 97 § %fed {35 wiIdT 8 @ SHARKS &1 &fed &:
72
A
72
77
B
77
68
C
68
D 76
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76
Correct Ans : D

Subject : Gen. Reasoning graduate

Q.No: 47 If Bis coded as 2, F is coded as 8, C is coded as 4, G is coded as 3, H is coded as 0, A is coded as 1, and N is coded as 7, then what is
2628693 the coded form of HNCGB?

TREBH 2 A PSAIIAE, FHI 8T PBIPE, CH AT PNSTIRAE, GHI 3T DSTPRAE, H P 0 T HIST PR &, A Bl 1 F IS B
g, 3R N & 7 ¥ DIfed BRd €, O HNCGB &7 SIfSd 3T 1 g2

04273
A

04273

07432
B

07432

02743
C

02743

02473
D

02473

Correct Ans : B

Subject : Gen. Reasoning graduate

Q.No: 48 In a certain code, SYSTEM is coded as METSYS, then how is NORMS coded in the same way?

2628694

wF YT HIs H, SYSTEM & METSYS & =0 & foraT ST 81 S &1 § NORMS & ferar Smaam?

SRMON
A

SRMON

SMRON
B

SMRON

SSRMO
C

SSRMO

SMNOR
D

SMNOR

Correct Ans : B

Subject : Gen. Reasoning graduate
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Q.No: 49 In a certain code, ANIMAL is coded as INALAM, then how is SAMPLE coded in the same way?

2628695

P Y B A, ANIMAL &1 INALAM & &9 ¥ foran ol 31 39 &S § SAMPLE &1 39 ferar e 2

MALESP
A

MALESP

ASMALE
B

ASMALE

MASELP
c

MASELP

MSALEP
D

MSALEP

Correct Ans : C

Subject : Gen. Reasoning graduate

Q.No: 50 If L is written as 14, how will GOA be written?

2628696
e L # 14 forad B, @ GOA &1 39 feran smwam?
22
A
22
26
B
26
21
C
21
29
D
29

Correct Ans : D

Subject : Gen. Reasoning graduate

Q.No: 51 Select the related letters from the given alternatives.

2628841
JHBVIR : BHIJRV :: NAVFXT : ?
fou Tt fawedt # Q Tfdd 31erl o1 99 B
JHBVIR : BHIJRV :: NAVFXT : ?

A AFNTVX
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AFNTVX

FNTXVA

FNTXVA
FANTVX

FANTVX

NFATVX

NFATVX
Correct Ans : A

Subject : Gen. Reasoning graduate

Q.No: 52 Choose the odd one out from the given alternatives.

2628856
&R & fau e g 9 fawd ug @l g
MADAM
A
MADAM
coMIC
B
coMmIC
TOUCH
c
TOUCH
SHOES
D
SHOES

Correct Ans : C

Subject : Gen. Reasoning graduate

Q.No: 53 Find the odd one out from the given alternatives.

2628868
ferg g faemedt # & fawm 71 B
Cranium
A
PUTd
Esophagus
B
PIGEK]
C Nasal bone
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g &St
Quill

LrC)

Correct Ans : D

Subject : Gen. Reasoning graduate

Q.No: 54 What comes in place of?

2629034 L
4 5
5 114(3 (4 |?2]|7
2 6
Uoarasd g & RIM TR FT SMTI?
5
5 114(3 (4 |?2]7
2] 6]
3
A
3
4
B
4
7
C
7
6
D
6

Correct Ans : B

Subject : Gen. Reasoning graduate

Q.No: 55 Which of the boxes comes next in the sequence?

2631101
S m ® o n I
m <o
®
ou; l.'<> .l<> ’? <l> <>o

T T SATCT HH-T ST 3Tl &2
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<>.. O @ O | ? I

O ® o o O
om;  g¥m " u e

l.‘<>
i u

Correct Ans : B

Subject : Gen. Reasoning graduate

Q.No: 56 What will be the day on 20 October 1995, if 10 September 1994 is on Friday?
2614237

20 3EER 1995 I S 1 &7 g, e 10 RideR 1994 FT YHaR 72

A Friday
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R[ehdR
Sunday

AR

Thursday

TedR
Tuesday

WIAAR

Correct Ans : C

Subject : Gen. Aptitude graduate

Q.No: 57 At 6:45 in a clock, the angle between the minute and hour hands is

2614318

TH T3 H 6:45 59, e 3R 62 &1 g5 & &9 BT B0 7

50°
A

50°

67.5°
B

67.5°

77.5°
C

77.5°

85.5°
D

85.5°

Correct Ans : B

Subject : Gen. Aptitude graduate

Q.No: 58 The average of three consecutive odd numbers is equal to 69. Which of these numbers is the smallest?
2616983

AR A1 fave sl o1 3ied 69 & SRIeR BidT &1 378 § B I T3 gad BIdt 82

79
A

79
B 75
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75

81
C

81

67
D

67

Correct Ans : D
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Subject : Gen. Aptitude graduate

Q.No: 59 What is the mean of data given in table?

2617002
X Y
6 25
3 30
5 40
2 33
4 12
6 26
et # fiT MU siwst &1 we /1 32
X Y
6 25
3 30
5 40
2 33
4 12
6 26
4.25
A
4.25
6.26
B
6.26
5.60
C
5.60
D 7.50
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7.50
Correct Ans : A

Subject : Gen. Aptitude graduate

Q.No: 60 What is the mean of data?

2617003
(5,9,4,8,9,7,5,6,9, 8)
8T 1 HIeT &1 82
(5,9,4,8,9,7,5,6,9, 8)
8

A
8
7

B
7
9

C
9
5

D
5

Correct Ans : B

Subject : Gen. Aptitude graduate

Q.No: 61 Determine the mean deviation about the mean for the following data:

2617016
2,4,6,8,10, 12, 14, 16, 18,20, 1, 3, 5, 7, 9, 11, 13, 15, 17, 19
fofifad a1 & o mer & aR o mier fagae Fufa &3
2,4,6,8,10,12, 14, 16, 18, 20, 1, 3,5, 7, 9, 11, 13, 15, 17, 19
2
A
2
6
B
6
7
C
7
5
D
5

Correct Ans : D
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Subject : Gen. Aptitude graduate

Q.No: 62 Which of the given responses would be a meaningful order of the following ?

frofofad fawedt &  HA-T1 A 3w gu wreat &1 ardfe %9 gxifar 82

2618050
1. Editing
2. Prewriting
3. Writing
4. Revising
5. Publishing
1. Jured
2. Sfaad
3. oA
4, G
5. JhIRME
A 51,2,4,3
51,243
B 4,5,2,3,1
4,5,2,3,1
C 4,3,5, 2,1
4,3,5,2,1
D 2,3,4,1,5
2,3,4,15
Correct Ans : D

Subject : Gen. Aptitude graduate

Q.No: 63 Arrange the following words as per order in the dictionary.

2618105

1.

2

Concorde

. Concrete
. Concurred
. Congrats
. Conrad

. Congress

. Conjure

https://mppeb.cbexams.com/MPPEB_Cand_Objections/Ecrt2023febgrive_adminpanel/Final_Model_Answer.aspx

31/55



4/17/23, 1:41 AM https://mppeb.cbexams.com/MPPEB_Cand_Objections/Ecrt2023febgrive_adminpanel/Final_Model_Answer.aspx
eI B HAER FEAIRIT Tee! & Tafid s
1. Concorde
2. Concrete
3. Concurred
4. Congrats
5. Conrad
6. Congress

7. Conjure

1,3,2,4,6,7,5

A
1,3,2,4,6,7,5
1,2,4,3,6,7,5

B
1,2,4,3,6,7,5
1,2,3,4,5,6,7

C
1,2,3,4,56,7
1,2,3,4,6,7,5

D

1,2,3,4,6,7,5
Correct Ans : D

Subject : Gen. Aptitude graduate

Q.No: 64 Arrange the following words as per the order in dictionary.
2618106

1. Deprive

2. Despair

3. Demand

4. Depart

5. Design

PrefifRd wredt 31 Srieh @Iy ¥ SFUR FarRd B
1. Deprive

2. Despair

3. Demand

4. Depart

5. Design
43152

43152

B 43512
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43512

34512
C

34512

34152
D

34152

Correct Ans : D

Subject : Gen. Aptitude graduate

Q.No: 65 From the given alternative words, select the word which cannot be formed using the letters of the given word:
2618165

CONSULTATION

frafafed fawedl ¥ 98 Wsa gAY S fAT 7T 26 & 31&RT BT WANT S ol ST S Habdl?
CONSULTATION
CONSTANT

CONSTANT

NATION

NATION

SALUTE

SALUTE
STATION

STATION
Correct Ans : C

Subject : Gen. Aptitude graduate

Q.No: 66  From the given alternative words, select the word which cannot be formed using the letters of the given word.
2618166

PRONOUNCEMENT

Fafafed fawedl & 9 98 Wsg MU O U U g & 1&RT ST TANT ISP ] 9T I qahal!

PRONOUNCEMENT
MOUNT
A
MOUNT
B CEMENT
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CEMENT
PAVEMENT
Cc
PAVEMENT
NOUN
D
NOUN

Correct Ans : C

Subject : Gen. Aptitude graduate

Q.No: 67 Arrange the following words as per order in the dictionary.
2618265

1. Tortoise

2. Torrid

3. Torso

4. Torque

5. Tortuous

Faffed el & UGN & T T 7 & SR fafew|
1. Tortoise

2. Torrid

3. Torso

4. Torque

5. Tortuous

4,2,3,1,5

4,2,3,1,5

3,2,415

3,2,415

2,3,45,1

2,3,45,1

4,3,21,5

4,3,2,1,5
Correct Ans : A

Subject : Gen. Aptitude graduate

Q.No: 68 1In a certain code, If:
2625251
A $ B means A is mother of B.

A # B means A is father of B.
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A @ B means A is husband of B.

A % B means A is daughter of B.

Which of the following indicates N is the sister of H?

s Ffdd os ¥, af:

AsBITASE A BBIATRI

A#BH I B A, BH AR
A@B® T A, B UM G

A% B Af g A, BB GBI

a7 9 P afar g & N, H 3 987 2

H#R$D$N
A

H#R$D$N

H#R#D@N
B

H#R#D@N

N%F@D$H
Cc

N%F@D$H

N%F@D%H
D

N%F@D%H

Correct Ans : C

Subject : Gen. Aptitude graduate

Q.No: 69 1In a certain code, if

2625304
(i) C+ D means Cis D’s father.
(ii) C - D means C is D's mother.
(iii) C = D means C is D’s daughter.
(iv) C # D means C is D’s sister.
A+G+R#K-0
How is A related to R in the given expression?
s ffd s ¥, Ik
(YC+D®HAfgC, Do T gl
(i) C - D &1 3f § C, D &I Tram B
(ic+DHafTC, DP G RI
(iv) C # D@13 § C, D B 987 B
A+G+R#K-0
fou U e # A, R ¥ 59 UeR Weifld 72
A Father
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foar

Husband

ufa

Brother

g

Son

hEl
Correct Ans : B

Subject : Gen. Aptitude graduate

Q.No: 70 In a lottery, there are 10 prizes and 15 blanks in tickets. A ticket is drawn at random. What is the probability of getting a prize?
2629591

T dledt #, fewel # 10 REBR 3R 15 Rad e § | t fowve aefs wu § P Srdr 81 RHR e &t e fbat 82

il =

Wi =

Wi =

-

NSy

] b

2
5

Correct Ans : D

Subject : Gen. Aptitude graduate

Q.No: 71 One card is drawn from a pack of 52 cards, each of the 52 cards being equally likely to be drawn. Find the probability that the card
2629592 ({rawn is a red face card?
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52 =1 % T U H § U Ul fHpTall o €, 52 aril | ¥ U il ! 90 0 9 fprell S obdl § | 1 Hg B1S (red face card) e &t
et 1 B

1
52

Correct Ans : D

Subject : Gen. Aptitude graduate

Q.No: 72 Which of the following cube in the answer figure can be made based on the unfolded cube in the question figure?

2630041

MP

AL

up

DL

CN

IR pfa & ol & S o9 91 97 Uy o1efa § Ga gU U & SHIYR W ST S GabeT 872

MP

AL

up

DL

CN
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€
&
€
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<K L

Correct Ans :

Subject : Gen. Aptitude graduate

Q.No: 73 1 baris equivalentto___ MPa.
2637474
lbar_____ MPa ¥ IR gl g
1
A
1
0.1
B
0.1
0.76
Cc
0.76
101325
D
101325

Correct Ans : B

Subject : Gen. Aptitude graduate

Q.No: 74 If Aequalto800andA:B=4:5andB: C=2: 3 then Find the value of C.

2639326
g A, 800 P REREMA:B=4:53RB:C=2:3P WK g, dl CHAF I I
1200

A
1200

B 1300
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1300

1400
C

1400

1500
D

1500

Correct Ans : D
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Subject : Gen. Aptitude graduate

Q.No: 75 Following line graph shows the percentage change(with respect to previous month) in the price of Rice and Wheat in 4 months.

2639327

45%

40%

35%
30%

v

25%

20%

N\

//\\

15%

10%
5%
0%

SN

//\\

-5% | February March April
-10% - \
-15%
-20%

-25% T
-30%

May
\\
N\

If the prices of Rice and Wheat in January is Rs.60/kg and Rs.40/kg, what is the difference between the price of 1 kg of Rice and

Wheat in May?

frfafaa Y sma 4 7 o T9d ok g & Fivd & vfawd uiada (Red 18R & ddy &) &) gufar g1

45%
4% -

30% +
25% -+
20% -+
15% =
10% -+
5% -+
m .
5% 1
-10%. -
-15% -
.2“ 1
-25% -+
-30% —

I St TEA § amad ok g 3 B 60 TU/fFal SR 40 Fud/fe €, O 7S 78R # 1 e 9maq ok g Y PiAd H 7 iR 72

Rs.21.5

Rs.21.5

B Rs.22.6
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Rs.22.6

Rs.23.4
Cc

Rs.23.4

Rs.24.5
D

Rs.24.5

Correct Ans : C

Subject : Gen. Aptitude graduate

Q.No: 76 The area of a square is 196 sq. cm, whose side is half the radius of a circle. The circumference of the circle is equal to breadth of a
2639343 rectangle. If

perimeter of the rectangle is 712 cm what is the length of the rectangle?

T 3 &7 8 196 i I B, Rt Yo U gt Y oneht Brsar 81 g Bt uRkfY U g 1 AieTs b RIeR 81 I 3 b1 ufiE 712 AW E,
T BT TS T B2

196 cm

196 It

186 cm

186 It

180 cm

180 ¥

190 cm

190 It

Correct Ans : C

Subject : Gen. Aptitude graduate

S aaq Given that a — b¥ = 3168, where both a & b are positive integers. then what is the
value of (3a + 4b)?
g fearamn g fa a? — b* = 3168. 6T a 3R b &A1 €eilcA YUITe &, aT (3a + 4b)
& AT T g?
181
A
181
183
B
183
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185
C

185

187
D

187

Correct Ans : B

Subject : Gen. Aptitude graduate

QNo: 78 ~ One of the factors of (x*- 7x3+ 5x2 + 31x - 30) is-

2639353

(x*- 7% + 5x2 + 31x - 30) FT TF I[UTH &-

x2-3x+10
A

x2-3x+10

x*+3x-10
B

x2+3x-10

x?-3x-10
C

x2-3x-10

x2+3x+10
D

x2+3x+10

Correct Ans : C

Subject : Gen. Aptitude graduate

Q.No: 79 The ratio of the LCM and HCF of 2 numbers is 14 : 1. If the product of the numbers is 504, what is the difference between the LCM and
2639354 cp?

2 Bl & LCM 3R HCF 1 3[UId 14 : 1 81 IS TReAsh &7 UM% 504 8, @ LCM 3R HCF & &I 3R 87

72
A

72

78
B

78
C 82
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82
88

88

Correct Ans : B
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Subject : Gen. Aptitude graduate

Q.No: 80 In a 80 liter mixture the ratio of milk to water is 5 : 3. How much milk we should add in the mixture so that ratio of water to milk in
2639360 the new mixture become 1 : 4?

T 80 Thex fiyor & g 3R Ut &7 U 5 @ 3 81 g fHisyor & fba gy ST =g aifds U fiysior & U quT g4 &7 SigUTd 1: 4 B §e?

None of the given option

50 liter
A

50 dtex

60 liter
B

60 TR

70 liter
C

70 ®ex
D

f&g ¢ fwedt 4 @ @i T

Correct Ans : C

Subject : Gen. Aptitude graduate

Q.No: 81 A book seller sells his book at a profit of 20% after allowing a discount of 10% on marked price. He increases his marked price by

2639361 Rg 150, After allowing same discount his profit per cent increases to 40%. Find cost price of book?

TP TH® {3ehdl RIfgd Ied TR 10% P T Y TR & S8 3T T B 20% F d1H W S9d1 81 98 30 [fFd Ieg &1 150 T serdl 31 T
B UG B P 91¢ IYBT ANY YT 40% T §¢ WIdl & | Y& BT Haded J1d Hiord?

Rs.
A

Rs.

Rs.
B

Rs.

Rs.
@

Rs.
D Rs

875

875
675

675

657

657

. 863
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Rs. 863

Correct Ans : B

Subject : Gen. Aptitude graduate

Q.No: 82

2641539

Find the odd one out from the given alternatives.

fou v faeredi & @ fawe 31d B3

Bank card

¥ 31

Debit card

Sfe s

Credit card

e o8

Memory card

AR BT

Correct Ans : D

Subject : Gen. Aptitude graduate

Q.No: 83

In the question below, some letters are given in two ovals, intersecting each other. The letter(s) given in the intersected portion can be

2641569 s5ed more than once while each of the letters outside the intersected portion is to be use only once to form meaningful word(s). If no

such word can be formed give ‘X’ as the answer, and if more one such word can be formed, give ‘M’ as the answer, otherwise the
second letter of the word will be the answer.

[ as ([ E ) o

Fr f3u U vy H 5 31eR < SSIHRI B U gWR HI Fied gu 3T U g1 ufasied unT & fu M 3Rt &1 v ¥ sifiies IR IuanT fasar o WehdT § oafe
Ui Ted T & STeR & UdD 3HeR BT ST Had U IR QU We 91 F T fvar ST 71 afe T 918 Weg 16T S o Tebell © Al
IR X' T, 3R I T SR VAT g ST S Iobell B, o IR 'M' <, ST Vet BT gORT &R IR g

" =
d o N 2 Y\
( AB ' E | HV

| | | |

J
./ ;
. o =

E

E

H
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H

B
C

X
D

X

Correct Ans : A

Subject : Gen. Aptitude graduate

Q.No: 84 In the question below, some letters are given in two ovals, intersecting each other. The letter(s) given in the intersected portion can be

2641574 ,sed more than once while each of the letters outside the intersected portion is to be use only once to form meaningful word(s). If no
such word can be formed give ‘X’ as the answer, and if more one such word can be formed, give ‘M’ as the answer, otherwise the
second letter of the word will be the answer.

aen

2 U TU Uy § B 31eR <1 SSTHRI H T g B Pbled §U T T T uiasiad Wi § T TN 3Rl ®1 T ¥ e IR U fBar S Tehdl § Seie
T U & TR & TS &R BT ITAN $Had TP IR Y0l Weg §99 & AT fopan 91 81 e T 1S Mg &1 &1 o Wapell § Y
JWR X' T, 3R TS TP 3R VAT Weg F1AT S Tobell 8, A STR 'M' &, 3T g BT G 3HeR IR ST

K _\j L

J
A

J

K
B

K
C

L

X
D

X

Correct Ans : D

Subject : Gen. Aptitude graduate

Q.No: 85 Which of the following will be the mirror image/jpg of the given image/jpg when a mirror is placed along MN?
2642132
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Td TS UUT H MN & JHFIR @1 ol 7, @ A & | < it snepfar o1 gdor wfafers @ gme

L]

MOHENIODARD
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OYVYOOINIHOW
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AV AVA
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OAAQOLAIHOM

ORAQDLIWIHOM

ORAQOLHIHOM

Correct Ans : C

Subject : Gen. Aptitude graduate

3'6'\'1%:58367 The difference between the areas of two squares drawn on two-line segments of different lengths is
40 cm?. What is the length of the greater line segment if one is longer than the other by 2 cm?
fafir dlats & &l tard sl I @id U & avif & &Ahal & Hde 40 YR g1 I tm g ¥ 2
A 2y el § Ol S 3@ S &l oIS 91 82
6 cm
A
6 A
11 cm
B
11
9cm
C
9 ¥
5 cm
D
5

Correct Ans : B

Subject : Gen. Maths graduate

(226'\;.%58575 The length of two parallel sides of a trapezium are 30 em and 40 cm_ If the area of the trapezium is
350 cm?, then what 1s the value of 1ts height?
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U G B & TAFGR Yot #1 dars 30 i 3R 40 78 21 afg gocda &1 4% 350
T 2 O S ST HA FE?

6 cm

6 att

7 cm

7 at

13 cm

13 97t
10 cm

10 4t

Correct Ans : D

Subject : Gen. Maths graduate

36'\11%58880 If Sides of cuboid are V; = log,;,. a®,V, = log ;. b® and V, = log;,. c® .
Then the value of V2 +VF + V3 + 2(W Vs + ValVa + ViVa) is:
Ife & 6T SV, = log . a®, V, = logg,. b* and V; = logg,, ¢®
T V2 +V2+VE +20iVs + Vs + ViVe) FTAAR:
8
A
8
9
B
9
27
C
27
16
D
16

Correct Ans : B

Subject : Gen. Maths graduate

Q.No: 89 If the difference between the compound interest and simple interest on a sum at 4% rate of interest per annum for three years is Rs
2616851 430 then the sum is-
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gfe fiF auf & fow ufd af 4% =09 R W T AR R THlG S 3R WYR A & T BT 3R 480 U T, o AR 77 72

9864.21
A

9864.21

9700
B

9700

8863.36
C

8863.36

6589.36
D

6589.36

Correct Ans : A

Subject : Gen. Maths graduate

Q.No: 90 A women buys a car on making a cash down payment of Rs 15205 and promise to pay two more yearly instalments of equivalent
2616859 smount in next two years. If the rate of interest 5% per annum compounded yearly the cash value of the car is-

U ARAT 15205 ¥UA HT Th¢ YIAH B IR Th HR WRIGT 8 3R AT & Iuf F T A 3 & 3R i Sl BT YT 6= &7 a1aT Il 8
e T 3R 5% Ui I8 e T ¥ FAI St 7, A PR BT Ahe, Yo o1 872

43000
A
43000
42000
B
42000
43447.33
Cc
43447.33
45000
D
45000

Correct Ans : C

Subject : Gen. Maths graduate

Q.No: 91 ABCD is a quadrilateral whose four sides all touch a circle. If AB is 6 cm, BC is 7.5 cm, and CD is 3 cm, what is DA?
2616929
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ABCD U& s § et IRt Yuiid Ue ga & W=l ot €1 3 AB 6 I, BC 7.5 It 8ik €D 3 ¥t §, o DA &1 82

.|.
o

2.4 cm

2.4 4t

5.6 cm

5.6 I

2.1 cm

2.1 4t

1.5cm

1.5 9t

Correct Ans : D

Subject : Gen. Maths graduate

2(';'\1107:09528 In a bank, i of the employees are boys, % of the boys are dark and gof the dark boys have kids. If E of the girls

are dark and % of the dark girls have kids, what part of the employees are without kids?

T §F # FANNE F § L oeF § o FEe § @R S wiEd dget § aw §1 afy et
wiger § 3R s Wiger asfrat & o= & & FAE! F1 Feaer e a=mt F

85
132

85
132

75
132

73
132

13z
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95
13z

79
132

79

132

Correct Ans : C

Subject : Gen. Maths graduate

Q.No: 93 Suppose a batsman's average rises by 7.5 percent at the beginning of his or her career and then rises by 16 percent after a few
2617563 innings. The original average is overall raised by:

A A 6 T Seciars T Sid I SRR I YA § 7.5 URId 9¢ 9l ¢ 3R R o uIikal & 918 16 U= 9 o1l 51 & $i9d 907 &4
@{EIE;T%:

23.7%

23.7%

23.5%

23.5%

24.7%

24.7%

12.7%

12.7%
Correct Ans : C

Subject : Gen. Maths graduate

Q.No: 94 Garib Rath Express completes its journey at an average speed of 90 km per hour without stopping, but on a day due to frequent
2617629 stoppages due to some special reason it completes the same journey at an average speed of 70 km per hour. How many minutes does
it stop?

TS Y TR o1 % 90 ot ufy 9 ) shaa nfa & st amn I weelt 8, afdp fanlt o ol fadiw RUT § IR-SR I & HRUT I8 ST A=
1 70 Tt ufay 92 Y o fa ¥ -1 Fxelt §1 7% e fiee Tt 82

12
A

12

13.3
B

13.3
C 14
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14

15

15
Correct Ans : B

Subject : Gen. Maths graduate

Q.No: 95 An electric board travels from point P to Q and then back. Both the places are situated on the banks of the river. If the speed of the
2617647 glectric board in point still water is doubled, then the time taken to travel from P to Q and back is 20% of the original time. The ratio of
the actual speed of the electric board to the speed of the river is-

% 30faed 1S ®d P A Q d% 3IR bR a1ay Fadt ] i @ 7 & R fRyd €] afe RR oia & safdes 91 3t ard It o &t
S, @ P ¥ Q IR R o amn ® qa I & 20% G I SAfded a8 Pt aRdiad d1e BT A B 9 S Y S o-

\."'E: 2
A

\."'E: 2

\."'E: 2
B

\.’g: 2

\."?: 3
Cc

\."?: 3

\."'E: 3
D

\,-"E; 3

Correct Ans : A

Subject : Gen. Maths graduate

Q.No: 96 A woman buys an article for Rs.37.50 and sells it for Rs. 58.60. Find his gain per cent?

2617651

TS AfRa U axg Bl 37.50 I & Tled € 3R 39 58.60 I H Sl B 1 U1 a1 wfdwrd I pifsd?

54.166
A

54.166

55.266
B

55.266

56.266
c

56.266
D 56.166
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56.166

Correct Ans : C

Subject : Gen. Maths graduate

26'107:79675 Find the value of x in the following 2% + % * E =2 % e E + %
ﬁmﬁi‘@?r2§+§ x5 = 2%} x§+%ﬁxﬂ¥rﬂmmﬁﬁ'€r—
2.34
A
2.34
1.37
B
1.37
3.0
C
3.0
1.11
D
1.11

Correct Ans : B

Subject : Gen. Maths graduate

26'\1107:8%82 If+/x -4 ++/x+7 =5,then find the value of x.

TR Jx—4 +-x+7 =58, dTx w1HE Ad T |

245

A
245
33
45
B
248
45
C
45
D 145

(=]
LA
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Correct Ans : D

Subject : Gen. Maths graduate

Q.No: 99 A piece of work can be completed in 8 days by 4 girls, 9 days by 3 boys, 2 days by 7 men, and 4 days by 5 women. Who among them
2617885 hjs the bare minimum of job capacity?

P B FI 4 TSfBal gRT 8 fal H, 3 Al gRT 9 faAi o, 7 goul gy 2 faf o SR 5 wfganadt gr 4 o=t & w1 famam 1 W g1
I I frad U gAaq s &ar 82

Boys

TSP

Men

ey

Womens

afgesit

Girls

aefear
Correct Ans : D

Subject : Gen. Maths graduate

Q.No: 100 How many kilometers Rahul travel in 3 hours and 45 minutes if he can travel 12 meters in one second?
2617962

e g Ub Ahs H 12 Hier B I X Tobell § Al a8 3 B 3R 45 e & fvan fraidieR ot amn #r Iobdr 2

162
A

162

160
B

160

170
C

170

167
D

167

Correct Ans : A

Subject : Gen. Maths graduate

https://mppeb.cbexams.com/MPPEB_Cand_Objections/Ecrt2023febgrive_adminpanel/Final_Model_Answer.aspx 54/55



4/17/23, 1:41 AM https://mppeb.cbexams.com/MPPEB_Cand_Objections/Ecrt2023febgrive_adminpanel/Final_Model_Answer.aspx

https://mppeb.cbexams.com/MPPEB_Cand_Objections/Ecrt2023febgrive_adminpanel/Final_Model_Answer.aspx 55/55



